

$$r \cos^2 n - 1 + \cos n - r = 0$$

$$r \cos^2 n + \cos n - r = 0$$

$$\cos n = 1$$

$$\Rightarrow n = 2K\pi$$

$$\leftarrow \text{الف} \quad 1 - r \sin^2 n = r \sin n - 1$$

$$r \sin^2 n + r \sin n - r = 0$$

$$\Rightarrow \sin n = \frac{1}{r}$$

$$\Rightarrow n = 2K\pi + \frac{\pi}{2} \\ (2K+1)\pi - \frac{\pi}{2}$$

1

$$r \cos^2 n + r \sin n \cos n = 1$$

$$1 + \cos^2 n + \sin^2 n = 1$$

$$\Rightarrow \cos^2 n + \sin^2 n = 0$$

$$\div \cos^2 n \Rightarrow 1 + \tan^2 n = 0 \Rightarrow \tan^2 n = -1 \\ = \tan -\frac{\pi}{4}$$

$$\Rightarrow r n = K\pi - \frac{\pi}{4} \Rightarrow n = \frac{K\pi}{r} - \frac{\pi}{4}$$

$$\leftarrow \text{الف} \quad \sin^2 n - \cos^2 n = (\sin^2 n + \cos^2 n)(\sin^2 n - \cos^2 n)$$

$$= -\cos^2 n = \sin^2 n$$

$$\Rightarrow -\cos^2 n = r \sin^2 n \cos n$$

$$\Rightarrow \sin n = -\frac{1}{r} = \sin -\frac{\pi}{2}$$

$$r n = 2K\pi - \frac{\pi}{2} \sim n = K\pi - \frac{\pi}{2r}$$

$$r n = (2K+1)\pi + \frac{\pi}{2} \sim n = \frac{(2K+1)\pi}{r} + \frac{\pi}{2r}$$

2

$$r \sin^2 n - \sin n \cos n + \cos^2 n - r = 0$$

$$r(\sin^2 n - 1) - \sin n \cos n + \cos^2 n = 0$$

$$-r \cos^2 n - \sin n \cos n + \cos^2 n = 0$$

$$-\cos^2 n - \sin n \cos n = 0$$

$$\div \cos^2 n \Rightarrow -1 - \tan n = 0 \Rightarrow \tan n = -1 \\ n = K\pi + \frac{3\pi}{4}$$

$$\text{الف} \quad \frac{\cos n}{\sin n} \times (r \cos n + 1) = \frac{1}{\sin n}$$

$$\sin n \neq 0 \Rightarrow r \cos^2 n + \cos n = 1$$

$$\Rightarrow \cos n = \frac{1}{r}$$

$$\Rightarrow n = 2K\pi \pm \frac{\pi}{2r}$$

3

$$\cos(rn - \frac{\pi}{4}) = \sin^2 n = \cos(\frac{\pi}{2} - n) \leftarrow$$

$$\Rightarrow rn - \frac{\pi}{4} = 2K\pi \pm (\frac{\pi}{2} - n)$$

$$\Rightarrow n = \frac{K\pi}{r} - \frac{\pi}{4r}$$

4

$$\frac{\sin^2 n + \sin^2 n}{\sin^2 n} - \sin^2 n = \cos^2 n$$

$$\Rightarrow \frac{r \sin^2 n \cos^2 n + \sin^2 n}{\sin^2 n} = \sin^2 n + \cos^2 n$$

$$r \cos^2 n + 1 = 1 \Rightarrow \cos^2 n = 0 = \cos \frac{\pi}{2} \Rightarrow n = 2K\pi \pm \frac{\pi}{2r} \\ n = K\pi \pm \frac{\pi}{2r}$$

5

$\frac{\sin \frac{n}{r}}{1 + \cos \frac{n}{r}} = \frac{1}{\sin \frac{n}{r}} + \frac{\cos \frac{n}{r}}{\sin \frac{n}{r}} \Rightarrow \tan \frac{n}{r} = \cot \frac{n}{r}$ $\frac{n}{r} + \frac{n}{r} = \frac{K\pi}{r} + \frac{\pi}{r}$ $\Rightarrow n = K\pi + \frac{\pi}{r}$ $-\pi \leq n \leq \frac{3\pi}{r} \Rightarrow K = -1, 0, 1 \Rightarrow \text{جواب}$ $\left \frac{2\pi}{r} - \frac{\pi}{r} \right = \pi \quad \left \frac{3\pi}{r} - (1 - \frac{\pi}{r}) \right = 2\pi$	6
$\cos^r n - \sin^r n \cos^r n = 1$ $\div \sin^r n \Rightarrow \cot^r n - \cos^r n = \frac{1}{\sin^r n}$ $\Rightarrow \cot^r n - \cos^r n = 1 + \cot^r n$ $\Rightarrow \cos^r n = -1 = \cos -\pi \Rightarrow rn = 2K\pi \pm \pi$ $\Rightarrow n = \frac{2K\pi \pm \pi}{r}$ $0 \leq n \leq 2\pi \Rightarrow \text{جواب}$	7
$\frac{1 - \tan n}{1 + \tan n} = \tan^r n$ $\Rightarrow \frac{\tan \frac{\pi}{r} - \tan n}{1 + \tan \frac{\pi}{r} \tan n} = \tan^r n$ $\tan \left(\frac{\pi}{r} - n \right) = \tan^r n$ $rn = K\pi + \frac{\pi}{r} - n$ $\Rightarrow n = \frac{K\pi}{r} + \frac{\pi}{1+r}$	8
$1 + \sin^r n = 2 \cos^r n \Rightarrow \sin^r n = 2 \cos^r n - 1 = \cos^r n$ $= \cos \left(\frac{\pi}{r} - n \right)$ $\Rightarrow rn = 2K\pi \pm \left(\frac{\pi}{r} - rn \right) \Rightarrow n = \frac{K\pi}{r} + \frac{\pi}{1+r}$ $\downarrow$ $n = K\pi - \frac{\pi}{r}$ $0 \leq n \leq \pi \Rightarrow \text{جواب}$	9
$\sin^r n - \cos^r n = -1$ $n = 0, 2\pi \checkmark$ $n = \frac{\pi}{r} \times$ $n = \pi \times$ $n = \frac{3\pi}{r} \checkmark$	$\sin^r n - \cos^r n = 1$ $n = 0, 2\pi \times$ $n = \frac{\pi}{r} \checkmark$ $n = \pi \times$ $n = \frac{3\pi}{r} \checkmark$ الف 10